TABLE ANSWER SHEET

Table Number

Table Members (full names please)

Set 1 Set 1 Set 2 Set 2 Chosen
No. Answer Answer No. Letter

17

12

4

11

A. Put an asterisk by six pairs of answers which can be viewed as special in the
context of this question. One of these six pairs may be deemed “dubious” and so
a question mark should also be placed by its asterisk

B. The seventeen letters not required in the final column constitute a pretty
unattractive set. By way of a tie breaker, rearrange these letters to make
something loosely resembling a “sentence”

NB NO ELECTRONIC AIDS TO BE USED FOR THIS QUIZ!!



